M 2d2R0IF=S &N
HE: Mol9ls DRHENE S8 IHMYE LZ(HY - BAILYUUK/RSALEXNS )

G2 2R ZHEH 235 (&3
SA-EHH .S (3H) - HEAY - B2 Ol &t 08 b HRS2
AE2R0IF=S AN 3,247,699 2,337,619 910,080
AIRF NFREUE S¢ FMIYE EF (MY - 520 3,091,885 2,183,550 908,335

LHHX/RPHLEXR )
Ad=2XNS ZHEHE 23 490,240 655,600 A 165,360
AIBANLHE/AS SR 22 57,240 58,800 A 1,560
201 LBt A 20,000 20,000 0
01 A2 22| HI 20,000 20,000 0
OUAZXNYFR A SR AL LXE S 20,000
202 048] 3,640 5,200 A 1,560
01 =2W ol 3,640 5,200 A 1,560
OARNYIE o4 LY K& 3,640
310 =220l & 33,600 33,600 0
02 =2H2E2 33,600 33,600 0
OAZXNYFR A SRR My K& 33,600
MO s 2 22 245 16,000 18,500 A 2,500
310 =2/ 0| & 16,000 16,500 A 500
02 =HR2<E2 16,000 16,500 A 500
O=HMII7 A3l 16,000
A= AIE N =2 HE &8 120,000 140,000 A 20,000
308 X SHMSO0IA 120,000 140,000 A 20,000
113 2SHHSEAEE ALY 120,000 140,000 A 20,000
oOxN=gY AIY e =2HE &8 120,000
d=2=2F 299 216,000 216,000 0
308 XX &M SO0l A 216,000 216,000 0
11 3I2SHUHSEAERAE ALY 216,000 216,000 0
ogd=z2s 29 216,000
T 43 d2AE SIEASS =X 81,000 90,000 A 9,000
308 XX A SO0 A 81,000 90,000 A 9,000
113 2SHHSHE AR E ALY 81,000 90,000 A 9,000
O R2L4F L=2AHE SlEASS =X 81,000
20I=XS9 ZHEH 235 1,510,000 460,000 1,050,000
20=3 S4& 243 A2 150,000 250,000 A 100,000
308 AXI S S0lA 150,000 250,000 A 100,000
13 2SHHSHE AR E ALY 150,000 250,000 A 100,000
Odl2 40l =& A JIY X 150,000
HHOol24ty 2240|g8 4 & 300,000 0 300,000
308 XIS SO0IA 300,000 0 300,000
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SN 20 FTSHD
M AZ9F DRIHNE SE FNIYE SFH (MY - SAILLNUN/PELETR )
t©el: ZMusEs 23 (o8
2N -3 - (3H) - NHEAMY - BE= Oll & oK ‘;ﬂgi HnsZ
01 AF2 22/l 12,600 12,600 0
OZMEAEBRME 29 12,600
02 222l 58,140 50,000 8,140
OBBR2, ANLRA2SA L A AEE 24 58,140
202 014 500 0 500
01 2401l 500 0 500
OSBRCASRME M22 222 29 500
401 AlEHI L 2T Y 39,900 0 39,900
01 Al&H 39,900 0 39,900
OY=e, ZXUY My, A 39,900
HHSIFH (LS R0IFTSH D) (JIEHIIE 155,814 154,069 1,745
ozt 2y 119,775 116,590 3,185
[NCAEAHE M2 2eld 29 119,775 116,590 3,185
101 Q1214 119,775 116,590 3,185
03 BRE(2IHA)22HES 119,775 116,590 3,185
oJez 81,108
01552 2,384,240 67 1 14,306
0145 = 2,353,780 xR « 1 14,123
o135 = 2,321,600 * 128 1 27,860
o782 2,090,590 +62 + 1% 12,544
O6s = 2,045,8109 x62 * 1 12,275
ox¥z4+y 5,832
01552 2,384,240 x50%+13] 1,193
0145 = 2,353,780% x50%+ 13 1,177
0135 = 2,321,600 *50%+23] 2,322
o7s= 2,090,5902 *30%+13] 628
O6s= 2,045,810 25%+13] 512
OUXRBEINLTY 3,646
O14~155 2 10720490 122 * 1% 1,287
o135 = 104,7162 * 122 1 1,257
0673 =2 91,8182 122 1Y 1,102
OAZtRA2242 37,9602 «150%*10Al 2+ 102 5,694
CERII=1RN 37,9602 *150%*10Al 2t %102 5,694
OYEE I 6,761
0153 = 2,384, 2402 %50%+13] 1,193
0145 = 2,353,780 x50%+13] 1,177
o135 = 2,321,6002 *50%+23] 2,322
o752 2,090,590 %50%+ 13| 1,046
O6s= 2,045,810 %50%+13] 1,023
oNE+Y 2,400
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